

                                 -120 Multiple Choice Questions
	1. 
	A printer driver is a _______.

A. software 

B. hardware

C. disk drive

D. hard disk 

(2001 MC No. 23)


	Printer driver is a program used for controlling the printer, ∴ it is a software.

∴ the answer is A.



	2. 
	A teacher reads a good passage. She would like to make a few amendments to the passage and distribute the printout to her students. If she does not want to re-type the whole passage again, which of the following device/system would she use?

(1) a scanner

(2) a optical character recognition system

(3) a magnetic ink character recognition device

A. (1) only

B. (3) only

C. (1) and (2) only

D. (1), (2) and (3) 

(2001 MC No.24)


	A scanner can capture image or text onto the computer.
A optical character recognition system can recognizes characters with special typefaces.

∴ Both of them can be used in this case.

∴ the answer is C.



	3. 
	Which of the following error can be detected by a Pascal compiler

A. a syntax error

B. a run-time error

C. a logic error

D. an input error 

(2001 MC No.27)

	Syntax errors are the result of violating grammatical rules in a program. It can be detected by the compiler.
Run-time error cause the program to terminate in the middle of its run, which cannot be detected by the compiler.

Logic error and input error can cause a incorrect result, but both of them cannot be detected by the compiler.
∴ the answer is A.

	4. 
	Which of the following will make a computer program easy to read and understand?

(1) adding comment statements

(2) using meaningful variable names

(3) using indentation

A. (1) only

B. (1) and (2) only

C. (1) and (3) only

D. (1), (2) and (3) 

(2001 MC No.28)


	The answer is D.


	5. 
	Which of the following are considered multi-media elements?

(1) video

(2) text

(3) sound

(4) graphics

A. (1) and (3) only

B. (1), (2) and (3) only

C. (1), (3) and (4) only

D. (1), (2), (3) and (4) 

(2001 MC No.29)

	Multi-media contains the element ‘video’, ‘text’, ‘sound’ and ‘graphics’.
∴ the answer is D. 



	6. 
	The structure of a database file is as follows: 

Field
Name
Sex
ID Card No
Blood Type

Address

Size (byte)
35

1

12
2

50

What is the approximate file size if there are 50 records in the file?

A. 100 bytes

B. 500 bytes

C. 5 Kbytes

D. 50 Kbytes

(2001 MC No.30)

	Size = ( 35 + 1 + 12 + 2 + 50 ) x 50 

= 5000bytes  ( 5 kbytes

∴ the answer is C.


	7. 
	When changing a password, that is the purpose of entering the new password twice?

A. validation

B. verification

C. encryption

D. documentation 

(2001 MC No.31)


	Data verification is used to test the truth or accuracy of the data, this can be done by transcribe each data item twice and checked against the original source to find out whether there are any mismatched items.

∴ the answer is B. 


	8. 
	Which of the following is an example of a multi-user real time processing system?

A. a payroll system

B. a bank account balance enquiry system

C. a multiple-choice question marking system

D. an electricity meter-reading reporting system

(2001 MC No.32)


	The bank account balance enquiry system allows more than 1 person to enquire the information at the same time. ∴ multi-user real time processing system is used.
∴ the answer is B.



	9. 
	Which of the following can be found in an electronic mail?

(1) a file attachment

(2) an address book

(3) an instant messaging application software

A. (1) only

B. (2) only

C. (1) and (2) only

D. (1), (2) and (3) 

(2001 MC No.33)

	The answer is A.


	10. 
	Which of the following is a software?

A. a web browser

B. a CD-ROM drive 

C. a visual display unit

D. a modem                    (2001 MC No.35)


	A web browser is program used to view the Internet page, ∴ it is a software.
∴ the answer is A,

	11. 
	program p41;

var x : integer;

begin

  x := random(10) + 1;

  while (x < 1) and (x > 10) do

    begin

      write(x);

      x := x + 1

    end;

  writeln(‘END’)

end.

A. END

B. 678910END

C. 12345678910END

D. the output cannot be determined. 
(2001 MC No.41)

	Since in the range 1 to 10, no integer can be smaller than 1 and larger than 10. ∴ no integer will be outputted.
∴ only ‘END’ will be outputted.

;. The answer is A.



	12. 
	program p42;

var i: integer;

   s: string;

begin

  s := ‘ABCDEFGHIJ’;

  for i := 1 to 10 do

    s := s + copy(s, i, i);

  writeln(length(s))

end.

A. 10

B. 20.

C. 55

D. 65 

(2001 MC No.42)
	After the loop length(s) = 10 + 1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + 10 = 65

∴the answer is D. 

	13. 
	program p43;

var x : array [1..4] of integer;

   y : array[1..4] of char;

   i : integer;

begin

  x[1] := 1;

  y[1] := ‘A’;

for i := 2 to 4 do

  begin

    x[i] := x[i – 1] + i;

    y[i] := chr(x[i] + ord(y[i – 1]))

  end;

writeln([4])

end.

A. J

B. N

C. Q

D. T 

(2001 MC No.43)


	i

x [ i ]

y [ i ]

2

x[2] 

= x[1] + 2

= 3

y[2] 

= chr(x[2] + ord(y[1])

= chr(3+65) 

= D

3

x[3] 

= x[2] + 3

= 6

y[3] 

= chr(x[3] + ord(y[2])

= chr(6+68) 

= J

4

x[4] 

= x[3] + 4

= 10

y[4] 

= chr(x[4] + ord(y[3])

= chr(10+743+65) 

= T


	∴ the answer is D.


	14. 
	program p44;

var i: integer;

begin

  for i := 1 to 10 do

    if (i > 3) or (i < 6) then

     write(i);

  writeln(‘END’)

end.

A. END

B. 45END

C. 3456END

D. 12345678910END 

(2001 MC No.44)


	Since “or” is used in the restrictions, all the no. in the range from 1 to 10 can pass in the loop.
∴ the out is : “12345678910END”.

∴ the answer is D.



	15. 
	program p45;

var x: integer;

begin

  x := 0;

  while x <= 100 do

    begin

      x := x + 10;

      case trunk(sqrt(x)) mod 2 of

       0: write(‘P’);

       1: write(‘Q’)

      end

    end;

    writeln

end.

A. PQPQPQPQPQP

B. QPQPQPQPQPQ

C. PQPQPPQQPQQ

D. QPQPQQPPQPP 

(2001 MC No.45)


	x

trunc ( sqrt( x )) mod 2

output

10

3 mod 2 = 1
P
20

4 mod 2 = 0

Q
30

5 mod 2 = 1
P
40

6 mod 2 = 0

Q

50

7 mod 2 = 1

P

60

7 mod 2 = 1

P

70

8 mod 2 = 0

Q

80

8 mod 2 = 0

Q

90

9 mod 2 = 1

P

100

10 mod 2 = 0

Q

110

10 mod 2 = 0

Q

∴ the answer is C.


	16. 
	program p46;

var num, err:integer;

   text : string;

begin

  text := ‘2001HKCEE’;

  val(text, num, err);

  writeln(err)

end.

A. 0

B. 4

C. 5

D. 2001

(2001 MC No.46)


	The val(text, num, err) procedure converts “text” to its numberic equivalent. In this case, “num” is declared as an integer, so the “text” will be converted into an integer. “err” is assigned the position of the first invalid character. Since the character “HKCEE” cannot be converted to integer, error will occur at the position 5.

∴ “err” = 5 

∴ the answer is C. 


	17. 
	program p47;

var a: array[1..12] of integer;

   k: integer;

begin

  a[1] := 1;

  a[2] := 1;

  for k := 3 to 8 do

    a[k] := a[k – 1] + a[k – 2];

  writeln(a[8])

end.

A. 8

B. 13

C. 21

D. 34 

(2001 MC No.47)


	k

a[k]

3

a[3] = a[2] + a[1] = 1 + 1 = 2

4

a[4] = a[3] + a[2] = 2 + 1 = 3

5

a[5] = a[4] + a[3] = 3 + 2 = 5

6

a[6] = a[5] + a[4] = 5 + 3 = 8

7

a[7] = a[6] + a[5] = 8 + 5 = 13

8

a[8] = a[7] + a[6] = 13 + 8 = 21

∴ the answer is C.


	18. 
	program p48;

var source, secret: string;

   e, d: char;

   i, tmp:integer;

begin

  source := ‘COMPUTER’;

  secret:= ‘’;

  for i := 1 to length(source) do

    begin

      e := source[i];

      tmp := ord(e) + 13;

      if tmp > 90 then

       tmp := tmp – 26;

      d := chr(tmp);

      secret := secret + d;

    end;

    writeln(secret)

end.

A. UXPRPBZC

B. IRELTBBQ

C. PEZCHGRE

D. VYBIRLBH

(2001 MC No.48)


	i

d 

secret

1

e= source[1] = C

tmp = 67 + 13 = 80

d = P

secret

= “P”

2

e= source[2] = O

tmp = 79 + 13 = 92

92 – 26 = 66

d = B

secret

= “PB”

3

e= source[3] = M

tmp = 77 + 13 = 90

d = Z

secret

= “PBZ”

…

……

……

……

∴ the answer is C.


	19. 
	program p49;

begin

  if not ((0 > -5) and (-7 < -5)) then

    write(‘1’)

  else if ‘z’ > ‘Z’ then

    write(‘2’);

  if ‘computer’ > ‘company’ then

    write(‘3’)

end.

A. 2

B. 13

C. 23

D. 123 

(2001 MC No.49)


	( 0 > -5 ) ( true,    ( -7 < -5 ) ( true,
∴ ( 0 > -5 ) and ( -7 < -5 ) ( true,

∴ not (( 0 > -5 ) and ( -7 < -5 )) ( false

;. No output for the first loop.

The ASCII code of ‘z’ = 122

The ASCII code of ‘Z’ = 90

∴ ’z’ > ‘Z’ ( true.

∴ output ‘2’

The ASCII code of ‘u’ = 117 

The ASCII code of ‘a’ = 97

∴ ’computer’ > ‘company’ ( true.

∴ output ‘3’

∴ the answer is C.



	20. 
	program p50;

var a, b : integer;

procedure ONE(x; integer; var y: integer);

var m: integer;

begin

  m := 3;

  y := m + x;

  x := m + y

end;

begin

  a := 4;

  b := 5;

ONE(a, b);

  writeln(a:5, b:5)

end.

A. 4    5

B. 4    7

C. 10   5

D. 10   7

(2001 MC No.50)


	`
Inside the procedure, x=a=4, y=b=5.

y = m + x = 3 + 4 = 7

x = m + y = 3 + 5 = 8

in the main program, a = 4, b = y = 7.

∴ the output is “4  7”

∴ the answer is B.


